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LESSON 2. NUMBER THEORY

1. OPERATION DEFINED / PHEP TOAN DINH NGHIA

*Key word / Tir quan trong
- Define: dinh nghia

- Operation: phép toan
- Symbol: ky hi¢u

1.1. Example/ Vi du
Example. Define the operation symbol a®b=axb+a-b. Find the value of 5@3.
Dinh nghia phép todn nhu sau a®b=axb+a-b. Tinh gid tri ciia 5@ 3.

A8 B.15 C.23 D.17

1.2. General method / Phuwong phap chung

- Xa4c dinh r0 phép toan dugc dinh nghia mai.

- Xac dinh cac gia tri a va b.

- Thay gia tri cia a va b vao phép toan dinh nghia da xac dinh & budce 1.
- Tinh toan dé tim ra két qua.

1.3. Practice / Luyén tap
Exercise 1. Define the operation a®@b=bXxa+a+b. Find the value of 16 ®9.
Dinh nghia phép toan nhu sau a®b=bXa+a+b. Tinh gid tri ciia 16 9.

A.144 B.169 C.25 D.151

Exercise 2. Define the operation a*b=(a+1)xb-a-2. Find the value of 24 *5.
Dinh nghia phép toan nhu sau a*b=(a+1)xb-a-2. Tinh gia tri cua 24 *5.
A.99 B.120 C.3 D.118

Exercise 3. Define the operation aeb=(a-b)x(a+b)-a+b. Find the value of 155
Dinh nghia phép toan nhu sau aeb=(a-b)x(a+b)-a+b. Tinh gid tri ciia 155.
A. 158 B.37 C.197 D.75

Exercise 4. Define the operation a®b=aXxb-a-b+1. Find the value of 13®(9®6)
Dinh nghia phép toan nhu sau a®b=aXb-a-b+1. Tinh gia tri ciia 13®(9®6).
A.475 B.702 C.468 D.28

Exercise 5. It is known that a # 0. Define the operation a®b=(a+b)+a+b. Find the
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value of 2®4)®14.
Biét rang a#0. Pinh nghia phép todn a®b=(a+b)+a+b. Tinh gid tri ciia (2®4)R14
A. 112 B.17 C.20 D.7

Exercise 6. The operations A and © are defined as follows:
Cdc phép toan A va © duoc dinh nghia nhu dudi day:

xAy =(9-x)xy

XQy=3xx-3xy

Find (503)A4.

Tinh (503)A4.

A. 12 B.19 C.24 D.60

2. PROBEMS USING DIAGRAM METHOD / ‘
CAC BAI TOAN SU DUNG PHUONG PHAP VE SO DO

“Key word / Tir quan trong
- diagram: so do6

- sum: tong
- difference: hi¢u

*C6 rat nhiéu bai todn sir dung phwong phdp vé so do. Mot sé dang todn quen thude
da biét nhu: Tong — Hiéu, Tong — Ti, Hiéu — Ti, ... Va mot so dang ndng cao hon nhu:
Cdc bai toan chia do vat, bai toan viét thém (xoa bot) chir so, ...

Exercise 7. The sum of A and B is 2019. The difference between A and B is 405. Given A is

larger than B, find the value of A.

Téng ciia A va B la 2019. Hiéu giita A va B la 405. Biét rang A 1ém hon B, tim gid tri ciia A.
A. 1212 B.807 C.1614 D.606

Exercise 8. Alice and Barney took a test and received the results. The sum of their
marks is 162 and Alice got 22 marks higher than Barney did. What is the result Barney
received?

Alice va Barney nhdn két qua ciia bai kiém tra. Tong sé diém ciia hai ban la 162 diém va Alice
cao hon Barney 22 diém. Hoi sé diém Barney nhdn dwoc la bao nhiéu?

A. 92 B. 90 C. 70 D. 72
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E}gercise 9. The sum of A, and B 1s 60. A is 2 times of B. Find the value of A.
Tong cua Ava B la 60. A gap 2 lan B. Tim gid tri cua B.
A.30 B. 40 C. 10 D.20

E{(ercise 10. The sum of A’ and B 1s 406. A 1s 28 time§ of B. Find the value of A.
Tong cua A va B la 406. A gap 28 lan B. Tim gia tri cua so A.
A.392 B. 14 C.217 D. 189

Exercise 11a. The sum of 4 and B is 84. 4 is 6 times of B. Find the value of 4.
Tong cua Ava B la 84. A gap 6 lan B. Tim gia tri cua so A.
A.12 B. 36 C. 60 D.72

Exercise 11b. Lisa has 80 CDs and Rosie has 4 CDs. How many CD(s) does Lisa have to give
Rosie to make the number of CDs of Lisa’s is 6 times of that of Rosie?

A8 B.6 C.72 D.12

Exercise 12. The sum of two natural numbers A and B is 2020. A 1s 3 times of B. Find
the difference between A and B.
Téng cuia hai sé tw nhién A va B la 2020. A gap 3 lan B. Tim hiéu gitta hai s6 A va B.

A.505 B. 1010 C. 1515 D. 1000

Exercise 13. Jacky has 24 eggs and Emma has 16 eggs. How many egg(s) does Jacky
have to give Emma to make the number of eggs of Emma’s is 3 times of that of Jacky’s?
Jacky c6 24 qua trimg va Emma c6 16 qua tring. Hoi Jacky can phdi dwa cho Emma bao
nhiéu qud trieng dé sé trimng ciia Emma gdp 3 lan sé trieng cia Jacky?

A.10 B. 14 C.8 D.16

Exercise 14. Tom has 37 candies and Jerry has 3 candies. How many candies does Tom
have to give Jerry to make them have the same number of candies?

Tom c6 37 cdi keo va Jerry c6 3 cdi keo. Hoi Tom can phdi cho Jerry bao nhiéu cdi keo dé
hai ban c¢6 s6 keo bcfng nhau?

A.20 B. 40 C. 17 D.34

Exercise 15. After Amy gives 6 apples to Johnny and Andy gives 8 apples to Johnny,
they will have equal number of apples. How many apple(s) did Amy have more than
Johnny originally?

Sau khi Amy cho Johnny 6 qua tdo va Andy cho Johnny 8 qud tdo thi cdc ban déu c6 sé tdo
bang nhau. Héi ban dau Amy ¢ nhiéu hon Johnny bao nhiéu qua tdo?

A.2 B. 14 C.20 D.22
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Exercise 16. Kaka and Kiki have a total of 40 matches. When Kaka gives 14 matches
to Kiki, their number of matches will be the same. How many match(es) does Kaka
have originally?

Kaka va Kiki ¢é tong céng 40 que diém. Kaka cho Kiki 14 que diém thi sé diém ciia hai ban
bang nhau. Hoi ban dau Kaka c6 bao nhiéu que diém?

A.34 B. 28 C.6 D.27
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KEY / DPAP AN

Dap an Example / Vi du:

Example: D

Dap an Exercise / Bai tap:
Exercise 1 2 3 4 5 6 7
Answer B A C C B A A
Exercise 8 9 10 11 12 13 14

a, D

Answer C D A b, A B B C
Exercise 15 16
Answer C A
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